EXERCISE 2.1 S5l

1. Which of the following expressions are polynomials?

) —= +%+l (i) ¥ (x-1)
x- x 2
- 1 1
i) %(x—l)(x—z) (iv) & +?1:)(x+ )
1 , 1
(v) g(x2+4x+6) (vi) x* '*‘?

(vii) 6+ x" +2x+3x° (viii) J5x2 +B3x++/2

2. Write the coefficient of x> in each of the following:
()4 + 2 + 3x (ii) 6 — 227 + 3% +x'

(iv) \/?_;x -4,

(iif) T —x+2

3. Rewrite the following polynomials in the standard form:

(i) x—T7+8x>+9x°
(il) —=5x> +6—3x> +4x
(iil) —4+6x> — x+7x* _J2x?

(iv) y* +5y° —11-Ty+9y*

ke

4. Which of the following are monomials, binomials or

trinomials?
(1)1 (ii) 2
(iif) x° +x—x+2 (iv) x> +2x+x+3
6 5 4
) 5 +6x8 i X L XX
) 4 5 4
Find the degree of each of the following polynomials :
3, .4 6
5, 1-2x+x° 6. B +xﬂ e
Xig ;
2
7. Pt D) 8. 5x°* -8L+4%+3"“2

4

9. -%——-x3+2\5x+3 10. a’x* +ax® +x+1

1
2
12. Classify the following as linear, quadratic and cubic
polynomials:
(i) 3x (i) y* (iif) 4x>
(iv) 1+t (V) x+x>+5
(vii) X +x

1. — @ -x* +x%

(vi) x — X
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